L

0
00
Rl
00

HE2 YEA U= &0k BTt

1. &% 0

ol

=
S

=z

2| 222G LIERHCE whatA]

A2 20|
=/ 71 -

o= T|F=22{0 M |

o 34 =

|OI=QE
AT T

0]

SfCt.

I
0

I

= 0| Bt

t

=

3] 200 mg= 14 23

- O|EBtALIZEA 1

S
2

.

C

o)

27t 0]

| 200 mg= 7

9

1

2) 01=217|

o)

wr

—_

| 100 mg= 15¢

9

e

oJ

Wk

—

| 700 mg= 15¢

k=1

121

= 13 200 mgs 1¢ 23| 7¢

cC
o

2t 50

Ql
=2

| 100 mgS 30

=)

11

o)

Wk

—_

~d

o)

Wk

—_

12138 100 mge 15¢

=
[=)

6) FAZCICt

o)

Wk

—_

| 200 mg= 21¢

=)

1€

7) g4

3| 200 mg
S EYIYIV

1

of]
o
o
,M_mﬁ.ﬂ_w ol
ofl ofl
_mw WH WH
ofn of
RENENE JoH o
ol on
_m. WH WH
oH
0
oL
oY
X
H
o
LHO
]
[N
-y
= D
B |
&)
e
||_ 7m
u | U
|
. T 4T
41| o <l

JJ
5



O H
il

2) &

N4

12 12| 200 mg 4 37017t

A|&EICt,

SSTEAS, AIDS, 7|04 2ztet 20| HAT|SO| 2otEl etzte] F0l= 0] ofe| Zt 44| 0|8=0|
Aotd 4+ UALDE Yy Yo T2t = 2ZHOF Bttt
ez 8% mazasz  |HD
200mg 1€ 1 °
A 221 2A= - = - 2|
S 3 ZONE wen we may sl g0
13 S =2
sicich= 100~200Mg |3= 754 = 12/ 200mg 12 22|12 S¢
RA| 2 (AIDS E2tof )
(e]] T = = O
JYERALY 2POMITEZ e~y )
200mg 1% 18]
100ma 12! 1 AIDS 2H2f9| T2t=A|C| 20| =0]A|
TEZAlCR0S0AAZ (500 = 67 AZ 2|20 Tst 0| ¥R
=24 A== QICt
'312 717k QA BH0| Tt 23 510{0F BiCt
*312 71202 21of 5% Agof Tlatof Bt




